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* Now

MC - reconstructed

using cgem.6.6.5.g

* MdcMCHit collection

// md

c mc hit

: :MdcMcHLitCol: :iterator iter_mdc MC _point = mdc_MC_point_Col->begin();
Event: :MdcMcHLit *hit = (*iter mdc MC point);

@n’t

int digiidx = hit->getDigildx();

* In general each MC point is

« Some MC points are not
associated to a digi? What

associated to a digi

does it mean?

MC --> reconstruction:
MdcMcHit :: GetDigildx
MC --=> reconstruction:
MdcMcHit :: GetDigildx
MC --> reconstruction:
MdcMcH1t :: GetDigildx
MC --> reconstruction:
MdcMcHit :: GetDigildx

mdc MC hit no.
value 19
mdc MC hit no.
value 28
mdc MC hit no.
value 21

FC --> reconstruction:
MdcMcHit :: GetDigildx
MC --> reconstruction:
MdcMcHit :: GetDigildx
MC --> reconstruction:
MdcMcHit :: GetDigildx
MC --> reconstruction:
MdcMcH1t :: GetDigildx
MC --> reconstruction:
MdcMcHit :: GetDigildx
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value 22
mdc MC hit no.
value 23
mdc MC hit no.
value 24
mdc MC hit no.
value 25
mdc MC hit no.
value 26
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MC - reconstructed

* Now using cgem.6.6.5.g

CgemMCHit collection

/] cgem mc hit
Event: :CgemMcHitCol: :1terator iter cgem MC point = cgem MC point Col-=begin();

Event::CgemMcHLt *hit = E*iter cgem_MC_point);
vector<int> digiidxvector = hit->GetDigildxVec();
vector<int> xclusteridxvector = hit->GetdclusterIdxVec();
vector<int> vclusteridxvector = hit->GetVclusterIdxVec();
TArrayl array = hlt'}GEtIdentlfi—Ef”; CgemMcHit :: GetDigildxVec size 0
CgemMcHit :: GetXclusterIdxVec size 1
s s . - CgemMcHit :: GetVclusterIdxVec size 1
d/Q//dXYGCtOFOlWOYS has size =0 CgemMcHit :: GetIdentifier size 3
(no dlgl for CGEM) cgen c1u5ter @ x flag @
cgem cluster 1 v flag 1
e each MC point is associated to a MC --> reconstruction: cgem MC hit no.
ClUStGF-]d CgemMcHit :: GetDigildxVec size @
CgemMcHit :: GetXclusterIdxVec size 1
CgemMcHit :: GetVclusterIdxVec size 1

e What is Getldentifier? CgemMcHit :: GetIdentifier size 2
cgem cluster 2 x flag @

cgem cluster 3 v flag 1

MC --> reconstruction: cgem MC hit no.

CgemMcHit :: GetDigildxVec size @
CgemMcHit :: GetXclusterIdxVec size 1
CgemMcHit :: GetVclusterIdxVec size 1
CgemMcHit :: GetIdentifier size 3
cgem cluster 4 x flag @

cgem cluster 5 v flag 1
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